1/s

0.02

10.01

S/So [rel. u.]

A

Temporal resol. =4.2 s

500 1000

Time (s)

5/So [rel. u.]

Ak, with 16.8 s (1/5)

B

Temporal resol.=16.8 s

0o 500

1000

0.02
0.015 .
SRR S he]
0.01 | c'%ﬁ% Vgt ta)
R,
R
. s e
2 Y G-
2% o8
0.005 N
0 1 1 1
0 0.005 0.01 0.015

Ak, reference with 4.2 s(1/s)

0.02

C

Temporal resol.=33.6 s

L ]
>
Q
S
| S |
o
Vg
~
Vg
1 (@) , ,
) 500 1000
Time (s)
0.02
—~~
(%]
~
Z 0015 ¢
(Vp]
\O
mM
™M 001}
y et . ) . :..‘s,_ ;é .
< gt g it KRN
o 0.005 . i %5 .,;v’.z-‘fg-.ea.’:“c\..%-?.s‘-
(] e ecof * o
= LY
< L
O - 1 1 1
0 0.005 0.01 0.015 0.02

Ak, reference with 4.2 s (1/s)



